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2023
ECONOMICS
( Honours Core )
Paper : ECO-HC-3036
( Statistical Methods for Economics )

Full Marks : 80

Time : 3 hours

The figures in the margin ifldicate Jull marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions . 1x10=10
S epTyEd Ted i -

(a) What is statistic?
sifemfe 52

(b) What is the first moment aphout the
mean?

T e gofF 7

(c) Define probability.
iRy gl Wl
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‘ (3)

(2)
! @ When are e two events said to Dbe (b) State .the addition  theorem  of
Mutually exclusive? probability.
I 1 W5y o AfH© TR1 I 2 FEIRER 1ol ST STE 4 |
(e) What is random variable? (c) Mention two properties of the uniform
T4fRS Bores B distribution.
. : ARG qp1 o S 1 |
U :::blfmmial distribution a distribution of E‘BT
& Mtinuoug random variable? (d) What is covariance?
" 3
( %RWWW?@“W? e 5 7
g) What iS )
the shape of the normal CUrVe: () What is stratified rando .
KIS IR QR ‘? m sampling?
(h) i o e o A0 2
What is Sa-nlple?
o g 3. Answer any four of the follow;i .
i yJ ng questions :
“nuﬁiscon-l L 5x4=20
o oo epprd R Il DO B figy
9 Mention f random (@) Prove the multiPlication theorem of
Sample g property ° probability.
2. An b ariable X
T Shithelis tions 2x5=10 ot 2 randor;l 0, 1 with Sssumes only three
S M o o D valuESH s equal probabilities.
BT gy Find E (X).
(@) Dis; X@
tingy; i d <o e v X L@ fefagy
S ulation an q -1, 0, 1
Sk o, ReF2 B T | B (x) Sty |
TR
ot [
9 BT oﬂof@'l fgﬁn 24 A/85
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(4) '

(b) Define probability mass function (pmf).

(c) Expl ; L g
bution o
aln - the concept of distrl Derive Poisson distribution ag 5 limiting

functj ] s dom
o OB for jointly distributed ran cace of binomial distribution.
arlableg‘
Ao oo o ¥ (PmOI wy far ) fem
o g vored 0T TN ; s :
W‘Wﬁwwl 59 e o1 RO R 35+ Sfvear |
d :
(@) Mean Ofabino ial distribution is 4 and (c) Discuss the PIOPerties of normal
its g i d;lation % J:’; Obtain the distribution.
Value
5 e g oI 95 TR ST 25y |
ngﬁqzﬁq“‘%ﬁw 4 = T o 3
s 99 e (d Find Karl Pearson’s  correlation
() E coefficient from the following data and
*Plain BaYes’ 1 interpret the result : 8+2=10
rule 4
ﬁ“ww| o R o P PR s gees
Y Expla: Sfeneq i FeEa IR 9
S B th tistage ~ random Bt 17
BREDIER multis Pamrey 18, 19, 90
Ry VNS OERr 90 4o wagiaon
TS e < 1
fe) An unbiased die is thrown. mind the
i Answe, probability that the number obtajned is
Sk either an even number or g multiple of

fo ; ion ;
Ur of the following qUesti© 10x4=40

oy
w%ﬁ

three or both.

@) p T iR Ted e AT Gl \jﬂ R e T
St : of et o1 I VA 3T @ 31 iy
blnomialth_e mean and variance 5+5=10 o TSR ST |
fir m%tnbuﬁon.
AR
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What are the principal steps in a sample
Survey? Discyss.

?ﬁ'w%ﬁwmﬁﬁs?w
|

Hention the difference between mean
Seviation and standard deviation.
Mer-luon two properties of standard
deﬁatiOH_ Calcylate mean and standard
deviatioy from the following data :

2+2+6=10

gﬁmﬁ%wﬁwﬂmmww
' T o @ﬁ@zﬁﬂﬂlwﬁm

ST Mg g e A R A

o (w) Persons (&)
) 15
120 15
S 23
R 92
e 25
st 10
6070 :
780 10
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(7))

Define the following with the help of one

example each :
HTORE O SHRATR Tofe fraaee ik
o -
(i) Sample space
aifom (8
(ii) Conditional probability
T I

(iij) Independent events

og 9ol

A bag contains S White and 4 black
balls. Two balls are drawn ot e
one after the other withoyt replacement.
Find the probability that both ‘halls
drawn are black. 6+4=10

1 1S 5 B M E 4 B 2ey <o wz |
o FRES THE BR Pres waie 2 B
T SOl A | T T W g e
fefg a1 |
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